Use of Average RF Power Meter with BI-6

Overview:
This procedure will define methods of measuring average power and converting from average to peak power at ATCBI-6 sites.

Equipment Required:


Average Power Meter


10dB Attenuator


Calculator

Detailed Procedure:

1. Calculate the duty cycle for the Sum port in decibels as:

D = 58 – 10 log (PRF)

For example, a site with a 100 Hz PRF interrogating only ATCRBS:

D = 58 – 10 log (100) = 38 dB

2. Calculate the duty cycle for the Control port in decibels as:

Sum duty cycle + 3 dB for SLS sites

Sum duty cycle + 1.25 dB for IISLS sites

3. Coordinate a one hour service outage with the controlling ARTCC

4. Do the following to the online channel:

a. Note the standard MIP then select a MIP which contains only modes 3 and C

b. Turn off the RF for the interrogator being measured

c. Wait two minutes

d. Turn on the RF for the interrogator being measured

e. Observe the local radar display and verify that no Mode-S targets are present

f. Use the manufacturer’s instructions to configure the average power meter to read power in dBm

g. Connect the 10 dB attenuator to the average power sensor

h. Connect the attenuator and sensor to the port being measured.  Record the coupling factor for the port

i. Read the average power in dBm

j. Repeat steps g. through i. for the other ports to be tested on this interrogator

k. After all desired readings are obtained, disconnect the average power meter

l. Return the MIP to the standard MIP for the site

m. Use the local radar display to verify that Mode-S targets are present

5. Change channels and repeat step 4 to measure the other interrogator

6. When finished with all measurements, return the system to service

7. Convert average readings to peak as follows:

Peak Power = Average Power + Duty Cycle + Port Coupling + 10 dB attenuator

